11A23H vA%—XKe i

40 LORBEH—Z2ICKEVEF—L2E GO O1TL BEF—LICKE-N1FEDH
lESh, #UWVBEBIL TV EEEELE.

A g
gy

-
-4

.
<

g..._,.__.._.._....,.......‘a




2 7EERBETRAI—XKE

1 1A238 A [AQ—F W
g18Ee  9:00 [Ey - EE=pEmM+Z£SC])
E2HE 10:00 [ZFEH - EE=1ta1%41]
m1-ESC 0 §—§ |1 msmtasc
FEIRE 11:00 [ZFEH - EE=7%&1 - ESC]
mgmt&sc 1 [ (9 | 2 AcEIE4T
FA4HE 12:00 [ZEH -EE= ]
JeaiE | &1 R
AL RTEF41 O1—-0[(02—-1
&1 «ESC @01 @01
BREU+42SC |@1—2|01—0
B iV 5 = B S| |BEkpAE| B
AeRiEF41 2 0 0 6 3 1 2 1
&1 - ESC 0 2 0 0 0 2 -2 3
BN +4#S C 1 1 0 3 2 2 0 2




TH 2 7 EERETR S —XKE

11238 (A) [Ca—F A #H
g18Ee  9:00 [FH - EE=1 )7 v39h-3"]
SEEH# 2 2”0 )1 mwan
E2HE 10:00 [ZH - BEE=72"%" 3-1-1]
giisc 5[ 25 ] 0 v-wumx
EIFHE 11:00 [BH-BE=-=SFTH]
K \ > 2 - 0
A4 -1 9 [ T ] 0 #JIISC
FA4RE 12:00 [Ty - EE=8JISC]
* - > 0 - 0 —
T vkx 0 [ 0 — 2 ] 2 =EEH
=& | TX¥ | I | 2Ty
—ZEEH 0O2—-1 02—-0
AT a-h- 1 o012 09—-0
BIS C @09 O5—0
- vEE-2T | @0 — 2 @05
B iV 5 = TR SR |[BERE| B
—ZEEH 2 0 0 6 4 1 3 1
TAHY a=h- 1 1 1 0 3 10 2 8 2
B)IIscC 1 1 0 3 5 9 -4 3
2T VEYE-RT 0 2 0 0 7 -7 4




